
PAGE 1 OF

REV.

TOOL BOX

BUL10271
A

1

RELAY RACK- SERIES ASSEMBLY INSTRUCTIONS FOR
RRCMD - VERTICAL CABLE MANAGER

HAMMOND
MANUFACTURINGTM

ELECTRONICS GROUP

visit our website @ www.hammondmfg.com

ASSEMBLY INSTRUCTIONS:

A)  Line up the back of the cable manager with the back of the relay
      rack, then lift the cable manager so it is flush with the top of the
      relay rack. (3 sets of holes should now line up)

B)  Using the hardware supplied, insert 2 3/8-16 x 1” bolts through
      the cable manager and relay rack at the top then fasten loosely
      using washer and nut.

C)  Insert the remaining hardware at 2 other points, (center and
      bottom), fasten loosely.

D)  Ensure that cable manager is sitting square then tighten all bolts.

ITEM No. DESCRIPTION QTY
1 CABLE MANAGER 1
2 SCREW 3/8-16 X 3/4 CAP HEX 6
3 NUT 3/8-16 HEX ZP 6
4 WASHER FLAT 3/8" ZP 6

PARTS LIST

Door removed for clarity

Relay Rack & Cable Manager assembled

1

2

3
4

Relay Rack
(not included)

9/16" Socket
Wrench

9/16" Open End
Wrench


